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BIOLOGY SET - 3 
lgh mÙkj pqus%µ 

Choose the correct answer :- (1 marks each) 

1. Hkzw.k lao/Zu iz;qDr gksrk gSµ 

 (d) Dyksuy tuu  ([k) lksekDyksuy fofHkUurkvksa dk izsj.k 

 (x) ladj.k vojks/dksa dks nwj djuk (?k) fo"kk.kq eqDr ikS/s fodflr djuk 

 Embryo culture is used in- 

 (a) Clonal propagation (b) Induction of somaclonal variation 

 (c) Removal of obstacles of hybridization (d) Development of virus free plants 

2- Mh-,u-,- 'kqf¼dj.k ds nkSjku ikni dksf'kdkvksa ds fy, dkSu ,atkbe O;ogkj esa yk;k tkrk gSµ 

 (d) ykblkstkbe ([k) lsyqykst (x) dkbfVust (?k) D;wfVust 

 During DNA purification, which enzyme is used to treat plant cells ? 

(c) Lysozyme (b) Cellulase (c) Chitinase (d) Cutinase 

3- okafNr fo'ks"krkvksa okys ikS/s vkSj tarqvksa dks izkIr djuk fdlds }kjk laHko gqvk gS \ 

 (d) tsusfVd bathfu;fjax ([k) bdsckuk rduhd
 

 (x) mÙkd lao/Zu  (?k) Øksekslksey bathfu;fjax 

 It is now possible to breed plants and animals with desired characters through- 

(a) Genetic engineering (b) Ikebana technique 

(c)  Tissue culture   (d) Chromosomal engineering 

4- bVkbZ&bVkbZ jksx mRiUu gksrk gSµ 

 (d) vklsZfud ([k) ukbVªsV (x) ikjn (?k) dSMfe;e 

 ‘itai-itai’ disease is caused due to 

(c) Arsenic (b) Nitrate (c) Mercury   (d) Cadmium 

5- dSyl lao/Zu esa] tM+ dk cuuk fdlds }kjk izsfjr gksrk gSµ 

 (d) ftcjsfyu  ([k) lkbVksdkbfuu 

 (x) vkWfDlu  (?k) ,fFkyhu 

 Root formation in callus culture is induced by- 

 (a) Gibberelin  (b) Cytokinin 

 (c) Auxin    (d) Ethylene 

6- cSDVhfj;k ds Øksekslkse esa gksrk gSµ 

 (d) jsIyhds'ku dk ,d vksfjthu (mn~Hko LFky) 

 ([k) jsIyhds'ku ds cgqr lkjs vksfjthu 

 (x) Mh-,u-,- dk fjis;j (ejEer) ugha gksrk 

 (?k) jsIyhds'ku izfØ;k cgqr /hjs gksrh gS 
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 In bacterial chromosome- 

 (a) There is one origin of replication 

 (b) There are multiple sites of replication 

 (c) There is no repair of DNA 

   (d) Replication is very slow 

7- fo'o i;kZoj.k fnol euk;k tkrk gS& 

 (d) 28 iQjojh dks ([k) 10 vizSy dks (x) 7 vxLr dks (?k) 5 twu dks  

 World environment day is observed on- 

(c) 28th February (b) 10th April (c) 7th August   (d) 5th June 

8- uhynsg flUMªkse fdlds }kjk gksrk gS \ 

 (d) Vh-Mh-,l- dh vf/drk
 

([k) DyksjkbM dh vf/drk 

 (x) ?kqyh gqbZ vkWDlhtu dh vf/drk
 

(?k) esFksuksXyksfcu 

 Blue body syndrome is due to-  
(a) Excess of TDS (b) Excess of chloride 

(c) Excess of dissolved oxygen (d) Methaemoglobin  

9- mQrd lao/Zu esa izdV gksus okyh fofHkUurk,¡ gSa \ 

 (d) lksekDYkksuy fofHkUurk,¡ ([k) Dyksuy fofHkUurk,¡ 

 (x) nSfgd fofHkUurk,¡ (?k) mQrd lao/Zu fofHkUurk,¡ 

 Variations found in tissue culture is- 

(c) Somaclonal variation (b) Clonal variations 

(c)  Somatic variation (d) Tissue culture variations 

10- okfgr tyey mipkj ds fdl LVst esa lw{ethoksa dk iz;ksx gksrk gS \ 

 (d) izkFkfed mipkj ([k) f}rh;d mipkj 

 (x) r`rh;d mipkj  (?k) lHkh 

 During which stage of sewage treatment microbes are used- 

(a) Primary treatment     (b) Secondary treatment 

(b) Tertiary treatment  (d) All of these 

11- fu;a=kd thu dks D;k dgk tkrk gS \ 

 (d) fujks/d thu ([k) fjizslj thu (x) vkWijsVj thu (?k) izkseksVj thu 

 Regulator gene is also called- 

(c) Inhibitory gene  (b) Repressor gene 

(c) Operator gene   (d) Promoter gene 

12- ;wdSfjvksV~l esa bafVxzsVj thu izksdSfjvksV~l ds fdl thu dh rjg dk;Z djrk gS \ 

 (d) fu;a=kd thu    ([k) vkWijsVj thu 

 (x) izkseksVj thu   (?k) lajpukRed thu 
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 Integrator gene of eukaryotes works as which type of gene of prokaryotes- 

(c) Regulator gene (b) Operator gene 

(c)  Promoter gene  (d) Structural gene 

13- nkyksa esa vuqifLFkr ,ehuks vEy dk tksM+k gS& 

 (d) esfFkvksuhu o ,ysuhu ([k) ,sysuhu o flLVhu 

 (x) esfFkvksuhu o flLVhu  (?k) ykblhu o fVªIVksiQku 

 Which of the following pair of amino acid is not present in pulses ? 

(c) Methionine and Alanine (b) Alanine and cystine 

(c)  Methionine and cystine (d) Lysine and Tryptophan 

14- izksVhu la'ys"k.k esa nks ,ehuks vEy ds chp fdl izdkj dk c¡/ curk gS \ 

 (d) isIVkbM ([k) gkbMªkstu (x) U;wfDy;ksVkbM  (?k) U;wfDy;kslkbM 

 Which type of bond is formed between two amino acids in protein synthesis ? 

(c) Peptide (b) Hydrogen (c) Nucleotide (d) Nucleoside 

15- tc fdlh mRifjorZu esa I;wfju ds LFkku ij fijkfeMhu izfrLFkkfir gks tk, rks bls dgrs gSa& 

 (d) Vªkaft'ku    ([k) VªkalolZu 

 (x) VªkUlyksds'ku  (?k) buolZu 

 When a pyrinidine base is substituted in place of purine in a mutation, is called- 

(c) Transition  (b) Transversion 

(d) Tranclocation  (d) Inversion  

16- ftu ifjiDo chtksa esa Hkzw.kiks"k jgrk gS] mUgsa dgrs gSa& 

 (d) ,aMksLifeZd    ([k) uu,aMksLifeZd 

 (x) ikWyh,fEczvksuh  (?k) ,iksdkfiZd 

 The mature seed which contains endosperms, is called- 

(c) Endospermic  (b) Nonendospermic 

(c)  Polyembryony (d) Apocarpic 

17- iq:"k rFkk L=kh ds ;qXeksa dk lay;u ls ----------- dk fuekZ.k gksrk gSµ 

 (d) vaMk.kq ([k) ;qXeut (x) dksjd iqVh (?k) buesa ls dksbZ ugha 

 ............ is formed by the union of male and female gametes- 

(f) Ova (b) Zygote (c)  Blastocyst (d) None of these 

18- lxaHkZrk ds nwljs ekg ds var rd Hkzw.k esa fodflr gks tkrs gSaµ 

 (d) flj ij cky   ([k) lHkh izeq[k vax 

 (x) ikn  ,oa vaxqfy;k¡ (?k) iw.kZ :i ls lHkh vax 

 By the end of the second month of pregnancy, the foetus develops- 

(c) Hair on head  (b) Most of major organs 

(c)  Limbs and digits (d) Fully developed organs 
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19- 'kqØk.kq esa Øksekslkse ik, tkrs gSaµ 

 (d) XX ([k) XY (x) YY (?k) buesa dksbZ ugha 

 The chromosomes found in sperms- 

(c) XX (b) XY (c) YY (d) None of these 

20- fjysDlhu L=kkfor gksrk gSµ 

 (d) xHkkZ'k; ls  ([k) vijk ls 

 (x) fMacokfguh ufydk ls (?k) vaMk'k; ls 

 Relaxin secreted from- 

(c) Uterus (b) Placenta (c)  Fallopian tube      (d) Ovary 

21- efgykvksa esa 'kY;fØ;k }kjk ckaè;dj.k izfØ;k dks dgrs gSaµ 

 (d) ufydk mPNsnu ([k) 'kqØokgd mPNsnu (x) varjkZsi (?k) jks/d 

 Surgical sterilization process in female known as- 

(c) Tubectomy (b) Vasectomy (c) Implant (d) Barrier 

22- uj tfeZuy~ dksf'kdk gksrh gSµ 

 (d) f}xqf.kr ([k) vxqf.kr (x) f=kxqf.kr (?k) buesa dksbZ ugha 

 Male germinal cells are- 

(c) Diploid (b) Haploid (c) Triploid (d) None of these  

23- lqtkd (xksuksfj;k) jksx gSµ 

 (d) ty tfur jksx  ([k) gok tfur jksx 

 (x) ;kSu lapkfjr jksx (?k) jksx ugha gS 

 Gonorrhoea is a- 

(f) Water born disease (b) Air born disease 

(c)  Sexually transmitted disease (d) Its not a disease 

24- gkbMªksiQksfc;k ,oa ,M~l gksrk gSµ 

 (d) izksVkstksvk ([k) d`fe (x) okbjl (?k) thok.kq ls 

 Hydrophobia and AIDS are caused by- 

(c) Protozoa (b) Worms (c) Virus (d) Bacteria 

25- ch-lh-th- dk Vhdk cPpksa dks fdl chekjh ds cpko esa fd;k tkrk gSµ 

 (d) Mk;fj;k ([k) {k; (x) iksfy;ks (?k) gStk 

 BCG vaccine is given to children for prevention of disease- 

(c) Diarrhoea (b) Tuberculosis (c) Polio (d) Cholera 

26- fuEufyf[kr esa dkSu lh xk; dh uLy mPp nqX/ mRiknd dh gSµ 

 (d) MksjlsV ([k) gksysfLVu (x) ik'kehuk (?k) usyksj 

 Which among the following is a high yielding milk breed of cow- 

(c) Dorset (b) Holstein (c)  Pashmina (d) Nellor 
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27- fuEu esa dkSu&lh eNyh leqæ esa ik;h tkrh gSµ 

 (d) ysfc;ks ([k) dryk (x) DySfj;l (?k) ckEcsMd 

 In the following which fish is found in sea- 

(c) Labeo (b) Catla (c)  Clarius (d) Bombay duck 

28- e/qeD[kh ikyu dks dgrs gSaµ 

 (d) ,ihdYpj ([k) ihlh dYpj (x) lsjhdYpj (?k) buesa ls dksbZ ugha 

 Bee keeping is called- 

(c) Apiculture (b) Pisciculture (c)  Sericulture (d) None of these 

 

SOLUTION 

(1) (x) (2) ([k) (3) (d) (4) (?k) (5) (x) 

(6) (d) (7) (?k) (8) (?k) (9) (d) (10) ([k) 

(11) (d) (12) (d) (13) (x) (14) (d) (15) ([k)  

(16) (d) (17) ([k) (18) (x) (19) (?k) (20) (?k) 

(21) (d) (22) (d) (23) (x) (24) (x) (25) ([k) 

(26) ([k) (27) (?k) (28) (d) 
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y?kq mÙkjh; iz'u%µ 

Very Short Questions :– (2 marks each) 

 

Ikzú 1- vijk ls L=kkfor gkeksZu dkSu&dkSu ls gSa \ 

mú vijk ls L=kkfor gkeksZu fuEu gS%µ 

 (d) Ekkuo tjk;q xksusMksVªkWfiu (g~;weu dksfjvkWfud xksusMksVªkWfiu] ,p lhth) 

 ([k) ekuo vijk ysDVkstu (g~;weu IyslasVy ySDvkstu & ,p ih ,y) 

 (x) ,sLVªkstu 

 (?k) izkstsLVkstu vkfn 

Q. What are the hormones secreted by placenta ? 

Ans.  The hormones secreted by placenta are– 

(a) Human chorionic gonadotropin (HCG) 

(b) Human placental lactogen (HPL) 

(c) Estrogen 

(d) Progestogens etc. 

 

izú 2- nqX/ L=kou D;k gS \ 

mú laxHkZrk ds nkSjku L=kh ds Lru xzafFk;ksa esa dbZ izdkj ds cnyko vkrs gSa vkSj laxHkZrk ds var rd 

buls nq/ mRiUu gksus yxrk gSA bl izfØ;k dks nqX/L=ko.k (ySDVs'ku) dgrs gSaA 

Q. What is lactation ?  

Ans. The mammary glands of the female undergo differentation during pregnancy and start 

producing milk towards the end of pregnancy by the process called lactation. 

izú 3- vksLVªkyks fiFksflu ekuo (vkfnekuo) ds mRifÙk LFky ,oa nks fo'ks"krkvksa dk mYys[k 

djsa \ 

mú yxHkx 2 fefy;u o"kZ iwoZ vksLVªkyksfiFkslhu ekuo iwohZ vfizQdk ds ?kkl LFkyksa ij ik, tkrs FksA 

mudh eq[; fo'ks"krk fuEufyf[kr gSµ 

 (d) ;s iRFkj ls cus gfFk;kjksa ls f'kdkj djrs FksA 

 ([k) ;s iQyksa dk gh Hkkstu djrs FksA 

Q. What was the place of origin & two main features of Australopithecine man ? 

Ans. About two million years ago, australopithecine man originated in grassland of East 

Africa. The two important features were– 

(a) They used stone made arms in hunting. 

(b) They were frugivorous. 
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izú 4- fodkl dh fØ;k esa g~;wxks Mh Hkzhl dh Hkwfedk D;k Fkh \  

mú 20oha lnh ds izFke n'kd esa g~;wxks Mh Hkzhl us bofuax izkbejkst ij dke djds mRifjoÙkZu ds 

fopkj dks vkxs c<+k;k ,oa crk;k fd mRifjoÙkZZu gh iztkfr dh mRifÙk dk dkj.k gksrk gSA bUgksaus 

bls lkYVs'ku (fo'kky mRifjoÙkZu dk cM+k dne) crk;kA 

Ans.  In the first decade of 20th century, Hugo de Vries worked on evening primerose and 

forwarded the facts of mutation and gave theory of mutation which is responsible for 

the origin of species. He called them saltation (long step of large mutation). 

 

izú 5- letkr vax fdls dgrs gS \ mnkgj.k }kjk le>k,¡A 

mú oSls vax tks leku mn~Hko vkSj lajpuk ds gksrs gSa] fdarq ,d nwljs ls dk;ksZ esa fHkUu gksrs gSSa] 

letkr vax dgykrs gSaA mnkgj.k ds fy, i{kh vkSj pexknM+ ds ia[k] es<+d vkSj ekuo ds 

vxzikn nksuksa letkr dgykrs gSa] D;ksafd mudk mn~Hko o lajpuk leku gksus ds ckotwn ;s 

vyx&vyx dk;Z djrs gSaA 

Q. What is homologous organ ? Explain it with example. 

Ans. Those organs which are similar in origin and structure but differ in their function are 

called homologous organs. For example, Wing of bird and bat and fore limb of men 

and frog are homologous organ as they show similarity in origin and structure but 

functions differently. 

 

izú 6- letkr vax vkSj le:ih vax D;k gS \ 

mú letkr vax µ ,sls vax tks ewy jpuk ,oa mn~Hko esa leku gksrs gSa] ysfdu vyx&vyx dk;Z 

djus ds fy, vuqdwfyr gksus ds dkj.k fHkUu&fHkUu fn[kkbZ nsrs gSa] letkr vax dgykrs gSaA 

 mnkgj.k µ fpfM+;k ds ia[k] pexknj ds ia[k] ?kksM+s dh vxyh Vkax ,oa ekuo dk gkFk letkr 

vax gSa ysfdu vyx&vyx dk;Z djus ds dkj.k budh jpuk fHkUu&fHkUu gks xbZ gSA 

 le:ih vax µ ,sls vax tks leku dk;Z ds fy, mi;ksftr gks tkrs gSa rFkk leku lk fn[kkbZ 

nsrs gSa] ijUrq ewy jpuk o Hkzw.kh; ifjo/Zu esa fHkUu gksrs gSa] le:i vax dgykrs gSaA 

 mnkgj.k µ frryh] i{kh rFkk pexknM+ ds ia[k mM+us ds dk;Z djrs gSa vkSj ns[kus esa ,d leku 

yxrs gSa] ijarq bu lHkh dh mRifÙk vyx&vyx <a+x ls gksrh gSA 

Q. What is Homologous organs and Analogous organs ? 

Ans. Homologous organ – The organs which have the same fundamental structure but 

different in functions are called homologous organs. These organs follow the same 

basic plan of organisation during their development. Ex-forelimbs of frog, lizard, 

pigeon and whale have the same basic structural plan but the fore limbs of these 

animals have different shape and function. 
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 Analogous organ – The organs which have similar function but different in their 

structural details and origin are called analogous organs. Ex- the basic structure of the 

wings of an insect is different from wings of a bird, bat and pterodactyl however, their 

functions are similar. 

 

izú 7- ySekdZ dk fl¼kar fdu rF;ksa ij vk/kfjr Fks\ fy[ksaA 

mú ySekdZ dk fl¼kar fuEu rF;ksa ij vk/kfjr gSµ 

 (d) cM+s gksus dh izo`fr 

 ([k) okrkoj.k dk lh/k izHkko 

 (x) vaxks ds de ;k vf/d iz;ksx dk izHkko 

 (?k) mikftZr y{k.kksa dh oa'kkxfr 

Q.  The theroy of lamarck is based upon which facts ? Write it. 

Ans. The theory of Lamarck are based upon following facts– 

(a) Tendency to increase in size. 

(b) Direct influence of environment. 

(c) Effect of use and disuse of organs. 

(d) Inheritance of acquired characters. 

izú 8- ckg~; fu"kspu dks ifjHkkf"kr dhft,A bldh gkfu;k¡ crkb,A 

mú nks fHkUu&fHkUu ;qXetksa (uj ,oa eknk) dk lay;u tc tho ds 'kjhj ds ckgj gksrk gS] mls 

ckg~; fu"kspu dgrs gSaA vf/dka'kr% ;g ty esa laiUu gksrk gSA tSls&'kSoky] mHk;pj vkfnA 

 ckg~; fu"kspu dh gkfu;k¡%& 

 (d) tho/kfj;ksa dks vR;f/d la[;k esa uj ,oa eknk ;qXedksa dks 'kjhj ls ckgj eqDr djuk 

iM+rk gS vFkkZr~ buesa ;qXed lay;u ds volj de gksrs gSaA 

 ([k) ckg~; fu"kspu dk ,d nqxqZ.k ;g Hkh gS fd ijHkf{k;ksa rFkk f'kdkj ,oa vU; vkinkvksa }kjk 

;qXed dh la[;k esa Hkkjh deh vk tkrh gSA 

Q. Define external fertilization. Mention its disadvantages. 

Ans.  External Fertilization is defined as fusion of sperm with ovum outside the body of 

female. Usually it takes place in water as in frogs. 

 Disadvantages:- 

(a) Offsprings are extremely vulnerable to predators thus threatning their survival 

upto adulthood. 

(b) Development of embryo in the external environment like water is endangered due 

to unfavourable change in climatic conditions like temp., rainfall etc. 
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izú 9- ch-vks-Mh- D;k gS \ 

mú lw{ethoksa }kjk ikuh esa ?kqys ;k df.kdh; inkFkksZ ds ok;oh; fuEuhdj.k ds fy, vkWDlhtu ds 

iz;qDr gksus dh nj dks tSo jklk;fud vkWDlhtu ekax ;k BOD dgrs gSaA BOD dkcZfud inkFkksZ 

}kjk ty iznw"k.k dk lwpd gS vFkkZr~ BOD vkWDlhtu dh ml ek=kk dks lanfHkZr djrk gS tks 

thok.kq }kjk ,d yhVj ikuh esa mifLFkr dkcZfud inkFkksZ dh [kir dj mUgsa vkDlhd`r dj nsA 

LoPN ty esa ;g de rFkk iznwf"kr ty esa bldh ek=kk vf/d gksrh gSA vf/d BOD iznwf"kr 

ty dk lwpd gSA 

Q. What is BOD ? 

Ans. Biological Oxygen Demand (BOD) represents the amount of dissolved oxygen 

required to oxidise the organic matter in one litre of water by micro-organism. 

Whenever untreated sewage are disposed into natural waters such as rivers etc the 

normal amount of dissolved oxygen present in water, gets quickly utilized by micro-

organism. High value of BOD is an indicator of highly polluted water by organic 

matter. Low value of BOD means the water is comparatively less polluted. 

 

izú 10-  tSo fofo/rk ds rhu vko';d ?kVdksa ds uke crkb,A 

mú tSo fofo/rk ds rhu vko';d ?kVd fuEufyf[kr gSaµ 

 (d) vkuqokaf'kd fofo/rk  

 ([k) tkrh; fofo/rk  

 (x) ikfjfLFkfrdh; fofo/rk 

Q. Name the three important components of biodiversity. 

Ans. Three important components of biodiversity are 

(a) Genetic Biodiversity 

(b) Species Biodiversity 

(c) Ecological Biodiversity 

 

izú 11-  Øk;ksfiztjos'ku ij laf{kIr fVIi.kh fy[ksaA 

mú Øk;ksfiztjos'ku µ ladVxzLV iztkfr;ksa ds ;qXedksa dks thfor o tuu{kefLFkfr esa fuEurki 

(µ196°C) ij ijjf{kr fd;s tkus dh rduhd dks Øk;ksfiztjos'ku dgk tkrk gSA 

 mi;ksx µ ladVkiUu tkfr;ksa ds ;qXeksa dks mfpr o vuqdwfyr ifjfLFkfr;ksa esa yacs le; rd 

lajf{kr djus esaA 

Q. Write short notes on cryopreservation. 

Ans. Cryopreservation – Cryopreservation is in vitro conservation technique useful for 

preserving vegetatively propagated crops eg, potato, seeds of plants and preserving 

sperms, eggs, cells and embryonic tissues of animals at –196°C temperature. 
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nh?kZ mÙkjh; iz'u%µ 

Long Question :– 

 

izú 1- L=kh tuu ra=k dk fp=k cukdj vaxksa dks ukekafdr djsaA (vkjsf[kD; dkV n'̀;) 

Q. Draw the diagram of female reproductive system with well labelled organs. 

(Diagrammatic sectional view) 

 

 
  fp=k %& L=kh tuura=k dk vkjs[kh; dkV ǹ';A 

 Fig.:- Diagrammatic sectional view of the female reproductive system. 
   

izú 2- laxHkZrk ds fofHkUu eghuksa esa Hkzw.k ifjo/Zu ds izeq[k y{k.k D;k gksrs gSa \ 

mú laxHkZrk dh vof/ ekuo esa 9 eghus dh gksrh gSA ,d eghus dh laxHkZrk ds ckn Hkzw.k dk ân; 

fufeZr gksrk gSA nwljs ekg ds var rd Hkzw.k ds ikn vkSj vaxqfy;k¡ fodflr gksrh gSA 12osa lIrkg 

(igyh frekgh) ds var rd yxHkx lHkh izeq[k vax&ra=kksa dh jpuk gks tkrh gS] tSls ikn] ,oa 

ckg~; tuuvax vPNh rjg fodflr gks tkrs gSaA xHkkZoLFkk ds ikapos ekg ds nkSjku xHkZ dh 

igyh xfr'khyrk vkSj flj ij ckyksa dk mx vkuk lkekU;r% ns[kk tk ldrk gSA 24osa lIrkg ds 

var rd (nwljh frekgh)] iwjs 'kjhj ij cky fudy vkrs gSa] vk¡[kksa dh iydsa vyx&vyx gks 

tkrh gSa vkSj HkkSgsa cu tkrh gSaA xHkkZoLFkk ds 9osa ekg ds var rd xHkZ iw.kZ :i ls fodflr gks 

tkrk gS vkSj izlo ds fy, rS;kj gks tkrk gSA 
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Q. What are the major features of embryonic development during various months 

of pregnancy. 

Ans. The human pregnancy lasts 9 months. After one month of pregnancy, the embryo’s 

heart is formed. By the end of the second month of pregnancy, the foetus develops 

limbs and digits. By the end of 12 weeks (first trimester), most of the major organ 

system are formed. The limbs and the external genital organs are well developed. The 

first movement of the foetus and appearance of hair on the head are usually observed 

during the fifth month. By the end of 24 weeks (second trimester) the body is covered 

with fine hair, eye lids separate and eyelashes are formed. By the end of 9 months of 

pregnancy, the foetus is fully developed and is ready for delivery. 

 

izú 3- ekuo dY;k.k esa i'kqikyu dh Hkwfedk dh O;k[;k djsa \ 

mú i'kqikyu dk laca/ i'kq/u tSls&HkSal] xk;] lwvj] ?kksM+k] HksaM+] mQ¡V] cdjh vkfn ds iztuu rFkk 

mlds ns[k&js[k ls gksrk gS] tks ekuo ds fy, [kk| mRiknu gsrq vko';d gSA 

  fo'o dh c<+rh tula[;k dks Hkkstu gsrq [kk| mRiknu dh òf¼ ,d izeq[k vko';drk 

gSA ;g i'kqikyu ls nw/] ekal] mQu tSls inkFkksZ ds mRiknu ekuo ds fy, vfrvko';d gSA 

i'kqikyu] i'kqiztuu rFkk i'kq/u o`f¼ ,d d`f"k i¼fr gSA i'kqvksa rFkk i'kq mRiknksa ls [kk| 

inkFkksZ dh c<+rh ek¡x dks iwjk djuk i'kqikyu dk mís'; gS] blls ekuo dY;k.k esa egÙoiw.kZ 

Hkwfedk gSA vkt oSKkfud fl¼akrksa dks viukrs gq, ikyrw i'kqvksa dh ns[kHkky rFkk mudh iztuu 

laca/h izfØ;kvksa esa lq/kj dj nw/ ,oa ekal dk mRiknu ekuo dY;k.k ds fy, fd;k tk jgk gSA 

Q. What is the role of animal husbandry in human welfare ? Explain it. 

Ans. Animal husbandary is related to animal stocks such as Buffalo, Cow, Pig, Horse, 

Camel, Goat etc and their reproduction and care which is necessary for production of 

food for human. 

  The increasing global population, increase in food production is a essential 

demand. This animal husbandry provide milk, meat and woolen for clothing for 

humanity. Animal husbandry, animal reproduction and growth of animal stocks is a 

system in agriculture. 

  To fulfil the increasing demand of food for humanity, animals and animal 

products are essential. Therefore animal husbandry is important for human welfare. 

Utilizing various scientific principles, care of domestic animals & their reproductive 

processes in context of human welfare are reformed. 
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izú 4- dSalj vfHkKku dh fofHkUu fof/;ksa ij izdk'k MkysaA 

mú dSalj tSls Hk;kog chekjh dk 'kq: esa gh irk yxkuk cgqr vko';d gS] D;ksafd ,slk gksus ij gh 

bl jksx dk mipkj fd;k tk ldrk gSA blds vfHkKku dh fuEufyf[kr fof/;k¡ gSaµ 

 (d)  dSalj mÙkdksa dh thowfrijh{kk vkSj mÙke fod̀fr ds vè;;u }kjkA 

 ([k)  c<+rh dksf'kdk x.kuk ds fy, :f/j rFkk vfLFkeTtk ijh{k.k djukA 

 (x)  vkarfjd vaxksa ds dSalj dk irk yxkus ds fy, fofdj.k fp=k.k] vfHkdfyr VkseksxzkiQh ,oa 

pqacdh; vuqukjh besaftx tSls rduhdksa dk iz;ksx fd;k tkrk gSA 

 (?k)  dSalj fof'k"V izfrtuksa ds fo:¼ izfrjf{k;ksa dk iz;ksx }kjkA 

 (M+)  vkf.odtkSfodh rduhdksa }kjk vkWDlhtu dh igpku djA 

Q. Mention the various test methods of cancer ?  

Ans. The fatal disease like cancer must be identified in its early stage so that it can be 

easily diagnosed properly and well in time. Following test methods are employed for 

the identification of cancer– 

(a) Through biopsy of cancerous tissue. 

(b) Blood and bone marrow test for growth of cancerous cells. 

(c) Cancer of internal organ identified by radiography, CT-computed Tomography 

and MRI (Magnetic Resonance Imaging). 

(d) Use of antibody angainst specific cancer antigens. 

(e) By identification of oncogens through bio-molecular technique. 

  

izú 5- ouksUewyu D;k gS \ blds dkj.k vkSj izHkko dks fy[ksaA 

mú ou izns'k dk ou jfgr {ks=kksa esa :ikarj.k djuk ouksUewyu dgykrk gSA ;s thou dh xq.koÙkk] 

jk"Vªh; vFkZO;oLFkk rFkk i;kZoj.k ds Hkfo"; ds fy, xaHkhj [krjk gSA ,d vkdyu ds vuqlkj 

'khrks".k {ks=k esa dsoy ,d izfr'kr ou u"V gq, gS] tcfd m".kdfVca/ esa yxHkx 40 izfr'kr 

ou u"V gks x, gSaA Hkkjr esa [kkldj ouksUewyu dh orZeku fLFkfr dkiQh n;uh; gSA 

  Hkkjr esa ou vkoj.k dh deh dk eq[; dkj.k ouksUewyu gS tks fd d`f"k esa foLrkj] 

'kgjhdj.k] vkS|ksfxdhdj.k] ydM+h vkSj tykou dh ydM+h dk vR;f/d O;kolkf;d mi;ksx 

ds }kjk gksrk gSA ouksUewyu ds eq[; dkj.k tula[;k foLiQksV] vkx] ihM+d] pjkbZ vkSj Lru/kjh 

tarq] ekSle] >we [ksrh bR;kfn gSA 

 ouksUewyu ds fuEufyf[kr izHkko gSaµ 

 (d) feV~Vh {kj.k c<+ tkrk gSA 

 ([k) lw[kk vkSj ck<+ ckjackj vkrk gSA 

 (x) o"kkZ dk rjhdk cny tkrk gSA 

 (?k) HkwL[kyu vkSj fgeL[kyu c<+ tkrk gSA 

 (M+) tyok;q xeZ gks tkrk gSA 
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 (p) ou fuokl iztkfr;k¡ foyqIr gks tkrh gSA 

 (N) CO2  ds [kir vkSj O2 ds mRiknu esa izfrdwy izHkko iM+rk gSA 

Q. What is deforestation ? Write its causes and effects.  

Ans. Deforestation is the conversion of forest areas to non-forest ones. It is a serious threat 

to the quality of life, national economy and future of environment. According to an 

estimate, almost 40 percent forests have been lost in the tropics, compared to only one 

percent in the temperate region. The present-scenario of deforestation is particularly 

grim in India. 

  The main cause of decrease in forest cover in India is deforestation due to 

expansion of agriculture, urbanization, industrialization, excessive commercial use of 

timber, fuel, wood etc. The causes of deforestation are population explosion, fires, 

pests, grazing and gnawing mammals, weather, jhum cultivation, etc. Effects of 

deforestation are as follows– 

(1) Soil erosion has increased; 

(2) Flood and droughts have become more frequent; 

(3) Pattern of rainfall is changing; 

(4) Landslides and avalanches are on the increase; 

(5) Climate has become warmer; 

(6) Forest dwelling species are becoming extinct; 

(7) Consumption of CO2 and production of O2 are getting adversely affected. 

 

Ikzú 6- fofdj.k iznw"k.k D;k gS \ blds D;k izHkko gSa \ 

mú tc ok;qeaMy esa fofHkuu izdkj ds fofdj.kksa ,oa jsfM;ks/ehZ inkFkksZ ls gkfudkjd ifjorZu gksrk 

gS rks mls fofdj.k iznw"k.k dgrs gSaA ;s ok;q] ty vkSj feV~Vh dk HkkSfrd iznw"k.k jsfM;ks/ehZ 

inkFkksZ ds lkFk gSA ;s izkd`frd ;k ekuo fufeZr gSA jsfM;ks/ehZ iznw"kd dk izHkko fuHkZj djrk gSµ 

 (d) fofdj.k dh 'kfDr] ([k) iznw"kdksa ds izlkj vkSj teko dh nj] (x) mQrdksa dk fofdj.k 

esa jgus dh le;kof/ vkSj (?k) iznw"kdksa dk vk/k thouA i;kZoj.kh; dkjd Hkh bldks izHkkfor 

djrk gSA  

 fofdj.k iznw"k.k dk izHkko%µ 

(1) fofdj.k iznw"k.k ds dkj.k 'kjhj nqcyk vkSj thou NksVk gks tkrk gSA 

(2) fofdj.k iznw"k.k Mh-,u-,-] vkj-,u-,-] izksVhu] Iyhgk bR;kfn dks gkfu igq¡pkrk gSA 

(3) jsfM;ks/ehZ fofdj.k ls caè;rk] n`f"V&nks"k] isQiQM+ksa dh jlkSyh] mQrdksa dk ßkl] bR;kfn 

gksrk gSA 

(4) ijkcSaxuh fofdj.kksa esa vf/d le; rd jgus ds dkj.k Ropk laca/h jksx gksrk gSA 

(5) vf/d le; rd vFkok ckj&ckj jsfM;ks/ehZ inkFkksZ ds fofdj.k ls jDr&dSalj vFkok 

Y;wdhfe;k gks ldrk gSA 
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(6) fofdj.k ds dkj.k dksf'kdkvksa dk vius pksV ds izfr laosnu'khyrk fHkUu gksrk gSA 

(7) ukfHkdh; foLiQksVksa ls LVªSVksfLiQ;j esa fLFkr lqj{kk ijr (vkstksu) ds u"V gksus dh 

laHkkouk jgrh gSA 

Q. What is radiation pollution ? What are the effects of it ?  

Ans. When in atmosphere harmful changes happen due to different types of radiations and 

radioactive materials then it is called radiation pollution. It is the physical pollution of 

air, water and soil with radioactive materials. It is natural as well as man made. The 

effect of radioactive pollutants depend on (i) strength of radiation, (ii) rate of diffusion 

and deposition of the pollutants, (iii) the length of time for which the tissue is exposed 

to radiation, and (iv) half life of pollutants. Environmental factors also influence their 

effects. 

 Effect of radiation pollution:– 

(1) Due to radiation pollution, body becomes weak and life becomes short. 

(2) Radiation pollution is harmful for DNA, RNA, Protein, Spleen, etc. 

(3) Radioactive radiations cause sterility, defect vision, tumour of lungs, loss of 

tissues, etc. 

(4) Long time exposure in ultraviolet radiations causes skin related diseases. 

(5) For long time or time-to-time radiation of radioactive materials may cause blood 

cancer or leukaemia. 

(6) Cells vary in their sensitivity to injury by radiation. 

(7) Chances of depletion of ozone layer in stretosphere by nuclear explosions. 

 

Ikzú 7- okVlu ,oa fØd }kjk fn;s x;s Mh-,u-,- ds f}dqaMfyr lajpuk dk o.kZu djsaA 

mú Mh-,u-,- dk okV~lu ,oa fØd ekWMy%& 

 (d) Mh-,u-,- v.kq nks ikWyhU;wfDyvksVkbM J`a[kykvksa dk 

cuk gksrk gS tks ,d v{k ds pkjksa vksj lfiZykdkj Øe esa 

nf{k.kkorZ (Clockwise) dqaMfyr gksrh gSA bl izdkj DNA 

v.kq esa Mcy gsfyDl gksrk gSA 

 ([k) nksuksa ikWyhU;wfDyvksVkbM J`a[kyk,¡ foijhr fn'kk esa 

dqaMfyr ;k izfrlekukUrj gksrh gSA ,d ikWyhU;wfDyvksVkbM 

J`a[kyk esa 'kdZjk ds dkcZu 5*&3* fn'kk esa rFkk nwljh ds 

3*&5* fn'kk esa gksrs gSaA 

 (x) izR;sd dqaMyh esa vusd U;wfDyvksVkbM Jà[kykc¼ gksrs 

gSaA 

 (?k) izR;sd U;wfDyvksVkbM esa ukbVªkstuh {kkjd 

MhvkWDlhjkbckst uked iapdkcZuh 'kdZjk rFkk iQkWLiQksfjd vEy 
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dk ,d&,d v.kq gksrh gSA blesa ukbVªkstuh {kkjd dh MhvkWDlhjkbckst 'kdZjk ls vanj dh vksj C1 

dkcZu ls rFkk iQkWLisQV v.kq blds ckgj dh vksj C5 dkcZu ls layXu gksrk gSA 

 (M+)  ,d J`a[kyk ds lHkh U;wfDyvksVkbM~l ds 'kdZjk v.kq iQkWLisQV v.kqvksa }kjk tqM+s gksrs gSaA 

 (p) nksuksa dqaMfyfu;ksa ds U;wfDyvksVkbMl Hkh vkil esa tqM+s jgrs gSaA buds ukbVªkstuh {kkjdksa ds 

chp nqcZy gkbMªkstu ca/ gksrk gSA 

 (N) Mh-,u-,- dh nksuks ukbVªkstuh Jà[kykvksa esa I;wjhu rFkk fifjfeMhu dh ek=kk cjkcj gksrh gSA 

A = T, G = C- 

 (t) ,Msuhu o Fkkbehu ds chp nks gkbMªkstu ca/ rFkk lk;Vkslhu o Xokfuu ds chp rhu 

gkbMªkstu ca/ gksrs gSaA 

 (>) Mh-,u-,- dh nksuksa J`a[kykvksa ds 20Å dh nwjh gksrh gS vFkkZr~ Mh-,u-,- dqaMyh dk O;kl 

20Å gksrk gSA 

 (×k) ,d gh J̀a[kyk ds fdUgha nks U;wfDyvksVkbM ;qxyksa ds chp 3-4Å dh nwjh gksrh gSA 

 (V) f}dqaMyh dh vkd̀fr ,saBh gqbZ lfiZy lh<+h ds leku gksrh gSA 

 (B) dqaMyhdj.k ds dkj.k Mh-,u-,- v.kq dh iwjh yackbZ esa y?kq [kk¡ps rFkk nh?kZ [kk¡ps ik;h 

tkrh gSA 

Q. Describe the double helix model given by Watson and Crick.  

Ans. Watson and Crick model of DNA:– 

(f) DNA molecule is made of two 

polynucleotide chains, which are spirally twisted 

around each other and form a ladder like structure 

called double helix. 

(g) Both polynucleotide chains are twisted 

in opposite or antiparallel direction or polarity of 

sugar phosphate back bone in these chains are 

opposite. The sugar carbons are 53 and 35 

directions in one & another polynucleotide chains 

respectively. 

(h) In each strand, many nucleotides are 

arranged in a series to form long chain. 

(i) Each nucleotide has one molecule, each 

of nitrogenous base deoxyribose name pentose sugar 

and of phosphoric acid 

(j) Sugar molecules of all nucleotides in a 

chain are linked with phosphate molecules. 53 

phosphodiester bond occurs between them. 
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(k) Nucleotides of both helices are linked to each other by weak hydrogen bond. 

(l) The amount of purine and pyrimidine is equal in both chains of DNA. 

(m) The diameter of DNA helix is 20Å. 

(n) Distance between any two nucleotide pairs of one chain is 3.4Å. 

(o) The shape of double helix is twisted or spiral stair case around each other and 

form a ladder like structure. 

(p) The horizontal rings of ladder are made up of pairs of purines and pyrimidines 

which are joined together by Hydrogen bonds. 

(q) Minor and mazor grooves are found in the total length of DNA molecule due to 

helical structure. 

 

Ikzú 8- rkykc dh ikfjfLFkfrdh ra=k ls vki D;k le>rs gSa \ 

mú rkykc dk ikfjfLFkfrd ra=k esa fuEufyf[kr nks ?kVd ik;s tkrs gSa%µ 

 (d) vtSfod ?kVd %µ rkykc ds ty esa dkcZu&Mkb&vkWDlkbM] vkWDlhtu rFkk vU; xSlsa ,oa 

vdkcZfud inkFkZ ?kqfyr voLFkk esa ik;s tkrs gSaA dqN vtSfod ?kVd rkykc ds uhpys Lrj esa 

ik;s tkrs gSaA lw;sZ ds izdk'k esa gjs tyh; inkFkZ (ikS/s] 'kSoky) CO2 ,oa ty dh lgk;rk ls 

izdk'k la'ys"k.k }kjk HkksT; inkFkksZ dk fuekZ.k djrs gSaA bu ikS/ksa o vU; thoksa dh e`R;q ds 

i'pkr~ tfVy inkFkZ fo?kfVr gksdj vtSfod ?kVdksa ds :i esa iqu% ty esa fey tkrs gSa vkSj 

ikfjra=k cjkcj pyrk jgrk gSA 

 
 ([k) tSfod ?kVd µ blesa mRiknd] miHkksDrk rFkk vi?kVudÙkkZ vkrs gSaA 
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  (i) mRiknd µ rkykc esa ik;s tkus okys lHkh gjs ikS/s tSls gkbfMªyk] ekflZfy;k] 

jsuudqyl rFkk fofHkUu izdkj ds Iyod 'kSoky tSls&Likbjksxkbjk] okWyokWDl] ukWLVkWd vkfn 

mRiknd ds mnkgj.k gSAA ;s lHkh mRiknd izdk'k la'ys"k.k }kjk Hkkstu dk fuekZ.k djrs gSaA 

  (ii) miHkksDrk µ bUgsa fuEufyf[kr Jsf.k;ksa esa ck¡Vk tk ldrk gSA 

 (a) izkFkfed miHkksDrk µ tyh; dhV] fØLVksf'k;u ykokZ] VSMiksy] 'kkdkgkjh eNfy;k¡ 

vkfn izkFkfed miHkksDrk gSA 

 (b)  f}rh;d miHkksDrk µ ;s izFke Js.kh ds ekalkgkjh Hkh dgykrs gSaA tSls&es<+d] 

tyh; liZ rFkk dqN eNfy;k¡A 

 (c)  r`rh;d miHkksDrk µ rkykc esa vusd eNfy;k¡ ik;h tkrh gSa tks f}rh;d 

miHkksDrkvksa rFkk NksVh&NksVh eNfy;ksa dks [kkrh gSaA 

 (x) vi?kVudÙkkZ µ rkykc ds ty esa vusd lw{etho] thok.kq rFkk dod mifLFkr gksrs gS tks 

vi?kVd dgykrs gSaA ;s e`r ikS/ksa o tarqvksa ds 'kjhj dks vi?kfVr djds muds tfVy dkcZfud 

inkFkksZ dks ljy vo;oksa esa rksM+rs gSaA bl izdkj ikfjfLFkfrd ra=k pyrk jgrk gSA 

Q. What do you understand by pond ecosystem ?  

Ans. Pond Exosystem :– A small fresh water pond is a classic example of an ecosystem 

(aquatic). The following two components are found in this ecosytem:- 

(1) Abiotic components – The gases like CO2, O2 and other gases and inorganic 

substances are dissolved in pond water. Some abiotic components are found on 

the bottom of the pond. In presence of sunlight, the green aquatic plants and algae 

manufacture the food materual by photosynthesis with the help of CO2 and water 

which is essential for different organisms. After the death of these plants and 

animals the complex matter decomposes and goes into water again as abiotic 

component and thus ecosystem continues forever. 

 

 

(2) Biotic components – It includes all producers, consumers and decomposers. 
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(a) Producers – All the green plants found in the pond e.g. Hydrilla, Marsilia, 

Ranunculus etc. and different type of Algae spirogyra, Volvox, Nostoc are 

examples of producers. All these producers prepare food by 

photosynthesis. 

(b) Consumers – These can be divided into following categories:- 

(iv) Primary Consumers – Various type of small insects and their 

larvae, herbivores and fishes are primary consumers. 

(v) Secondary consumers – These consumers are primary carnivores 

which eat the herbivores e.g. frog, water snakes, bettles & some 

fishes etc. 

(vi) Tertiary consumers – Carnivores fishes are found in the pond water 

which feed on the consumers of second order small fishes. 

(c) Decomposers – Various types of micro organisms eg. bacteria, fungi etc 

are also present in the pond water which are called decomposers. They 

attack on dead bodies of producers and consumers and convert complex 

organic compounds into simpler inorganic compounds.  

  

 

 

 

 

 

 

 

 

 

 

 

 

 

  


